



Projective Flow

$$u f_x + v f_y + f_t = 0$$
 Optical Flow const.
 $\mathbf{u}^T \mathbf{f}_x + f_t = 0$
 $\mathbf{x}' = \frac{\mathbf{A}\mathbf{x} + \mathbf{b}}{\mathbf{C}^T \mathbf{x} + 1}$ Projective transform
 $\mathbf{u} = \mathbf{x}' - \mathbf{x} = \frac{\mathbf{A}\mathbf{x} + \mathbf{b}}{\mathbf{C}^T \mathbf{x} + 1} - \mathbf{x}$

Projective Flow

$$\varepsilon_{flow} = \sum (\mathbf{u}^{T} \mathbf{f}_{X} + f_{t})^{2}$$

$$(\sum \phi \phi^{T}) \mathbf{a} = \sum (\mathbf{x}^{T} \mathbf{f}_{x} - f_{t}) \phi$$

$$\mathbf{p} = [a_{1}, a_{2}, b_{1}, a_{3}, a_{4}, b_{2}, c_{1}, c_{2}]^{T}$$

$$\phi^{t} = [f_{x}x, f_{x}y, f_{x}, f_{y}x, f_{y}y, f_{y}, xf_{t} - x^{2}f_{x} - xyf_{y}, yf_{t} - xyf_{x} - y^{2}f_{y}]$$















































































